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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· 12 x 3 + 5 =

	


· (12 + 2) ( 5 =

· 12 x (3 + 5) =
· 12 ( 3 + 5 =
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· 15 x (6 + 3 ) =
	


· 15 – (6 + 3 ) =
· 15 + 6 x 3 =
· 15 + 6 ( 3 = 
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· 8 + (5 – 3) =
	


· (8 + 5) x 3 =
· 8 ( 5 + 3 =
· 8 + 5 x 3 =
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· 20 – (6 + 5) =
	


· (6 + 3) x 4 = 
· 18 – (10 – 3) =
· (10 – 4 ) + 8 = 
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· (10 – 4) + 8 = 
	


· (17 + 7) ( 3 = 
· 28 – 8 x 2 = 
· 44 ( 11 + 9 = 
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· 45 – (12 + 9) = 
	


· 6 x (14 + 8) = 
· 36 ( (3 + 6) = 
· 8 + (6 x 3) = 
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· 6 x (20 + 7) = 
	


· 18 x (100 – 1) =
· (4 + 8) x 16 =
· (40 – 8) x 12 =
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· (4 + 8) x 16 =
	


· (40 – 8) x 12 =
· 15 x (8 + 6) = 
· 24 x (60 – 8) =
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· (0,6 + 5) x 1,7 =
	


· (20 – 4) x 2,3 =
· 6 x (9 + 5) = 
· 4 ( (25 – 7) = 
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· (6 + 7) ( 14 =
	


· (9 + 8) x 16 =
· 12 x (6 + 8) = 
· 17( (20 – 6) =
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· (30 – 6) x 13 =
	


· 125 – (36 x 8) =
· 1,8 x (10 + 2) =
· 99 ( (13 + 7) =
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Le vocabulaire des opérations

Traduire chacune des expressions suivantes par une phrase : 

· (24 x 9) + 24 =
	


· 45 – (27 + 6,8) =
· 11 x 5 + 8 =
· 26 ( (7 + 3) = 
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